Unit IV – Newton’s Third Law
          
Name ___________________________ #:


______  1.  Whenever an object exerts a force on a second object, the second object exerts a force of the same size, but in the opposite direction to the first object.


A.  always true
B.  sometimes true
C.  always false

______  2.  Forces always occur


A.  when velocities are constant
B.  as single quantities



C.  in pairs

D.  in triplets

______  3.  According to Newton’s Third Law, if you push gently on something, it will push


A.  gently on you
B.  on something only under the right conditions


C.  gently on something else
D.  on you only if you aren’t moving

______  4.  Andrew hits a nail with a hammer.  During the collision, there is a force


A.  on the hammer but not on the nail
B.  on the nail but not on the hammer


C.  on the nail and also on the hammer.

______  5.  A 500 N student sits on the floor.  She exerts a force on the floor of 


A.  1000 N
B.  500 N
C.  250 N
D.  50 N 

______  6.  A 500 N student sits on the floor, the floor exerts a force on her of 


A.  1000 N
B.  500 N
C.  250 N
D.  50 N 

______  7.  A swimmer is pushed forward by


A.  the force of their arms and legs on the water



B.  the force of the water on their arms and legs

______  8.  A rocket ship is pushed forward by gases that are forced out the back of the ship.


A.  true
B.  false


______  9.  In order to make a cart move forward, a horse must pull harder on the cart than the car pulls on the horse.


A.  true
B.  false

______  10.  If a bicycle and a parked car have a head-on collision, the force of impact is greater on the bicycle.  


A.  true
B.  false

______  11.  The force exerted on the tires of a car to directly accelerate it along the road is exerted by the 


A.  engine
B.  tires
C.  air
D.  road

______  12.  If a horse pulls on a wagon at rest, the wagon pulls back equally as much on the horse. Will the wagon be set into motion?


A.  No, because the forces cancel each other.


B.  Yes, because there is a net force acting on the wagon.


C.  Yes, because there is a time delay between action and reaction.


D.  Yes, because the horse’s pull on the wagon is larger than the wagon’s pull on the horse.

______  13.  As a ball falls, consider one force to be the pull of the earth's mass on the ball.  


What is the interaction pair to this force?


A.  non-existent in this case
B.  the acceleration of the ball


C. the pull of the ball's mass on the earth
D.  air resistance acting against the ball


E.  none of these

______  14.  You’re in the back of a friend’s pickup truck when it stalls on a hill.


[image: image1..pict]You jump out, get behind the truck and push with all your might (300 N).  Still, the truck slowly rolls back down the hill.  


The force the truck exerts on you is:


A.  greater than 300 N

B.  300 N


C.  less than 300 N

D.  it’s not possible to tell

15.  When you first learned how to roller skate, you may have gotten started by pushing off the wall at the skating rink.  Draw a force diagram for yourself as you accelerate.  Using agent-object notation, clearly label all the forces acting on you.

16.  An unfortunate bug splatters against the windshield of a moving car.  

Compare the force on the bug to the force on the car’s windshield.  Explain.

Compare the amount of acceleration of the bug to the amount of acceleration of the car.  Explain.

